Mild Word Problems

Phillips Idowu jumped 16.5m in the triple jump at the London Olympics last year.
The winner jumped 18.3m.
How much further did the winner jump?

James is 1.43m tall, and Jodie is 135cm.
How much taller is James than Jodie?

The length of a swimming pool is 25m.
Miss Mitchell swims 200m every morning.
How many lengths is this?

3 pencils are laid in one long line on the table.
The first is 16¢cm, the second 155mm, and the third 13cm.
What is the total length of all 3 pencils, in both cm and mm?

It is approximately 83km from Nottingham to Birmingham.
e How many m is this?
e How far would a journey to, and from, Birmingham be?

At the weekend I walked 2.5km.
My Dad walked 200m further than me.
How far did he walk?

The perimeter of a pentagon is 35cm.
What is the length of each side, in both cm and mm?

The Harrison family sets off on a 52.4km journey to visit their relatives.
They have driven 23,000m so far.
How much further do they have to drive?



Spicy Word Problems

Phillips Idowu jumped 16.53m in the triple jump at the London Olympics last year.
The winner jumped 18.39m.
How much further did the winner jump?

Johnny is 1.43m tall, Alisha is 145cm, and Kai is 1.39m.
e Who is the tallest out of the three?
e What is the difference between Kai and Alisha's height?

The length of a swimming pool is 25m.
Miss Mitchell swims 400m every morning.
How many lengths is this?

5 pencils are laid in one long line on the table.
The first is 16¢m, the second 155mm, the third 13cm,
the fourth 122mm and the fifth 14.5cm.
What is the total length of all 5 pencils, in both cm and mm?

It is approximately 83.6km from Nottingham o Birmingham.
e How many m is this?
e How far would a journey to, and from, Birmingham be?

At the weekend I walked 2.6km.
My Dad walked 450m further than me.
How far did he walk?

The perimeter of a hexagon is 78cm.
What is the length of each side, in both cm and mm?

The Harrison family sets off on a 152.4km journey to visit their relatives.
They have driven 123,000m so far.
How much further do they have to drive?



Hot Word Problems

PhillipsIdowu jumped 16.53m in the triple jump at the London Olympics last year.
The winner, Christian Taylor jumped 1839cm.
How much further did the winner jump?

Matthew is 1.49m tall; Olly is 8cm shorter.
e How tall is Olly?
Jasmine is 0.05cm taller than Matthew.
e What is the difference between Jasmine and Olly's heights?

The length of a swimming pool is 25m.
Miss Mitchell swims 600m every morning before coming to work.
How many lengths does she swim each day?
How many lengths does she swim in one week?

5 pencils are laid in one long line on the table.
The longest is 15cm long, the shortest is half the length.
The other three are 14.5cm, 125mm and 12.2cm.
How long are all 5 pencils together?

It is approximately 283.62km from Nottingham to Southampton.
e How many m is this?
e How far would a journey to, and from, Southampton be?

At the weekend I walked 3.67km.
My Dad walked 450m further than me.
How far did he walk?

The perimeter of a dodecagon is 156cm.
What is the length of each side, in both cm and mm?

The Harrison family sets off on a 352.4km journey to visit their relatives.
They have driven 123,700m so far.
How much further do they have to drive?



